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QUESTION 1

You use a web browser to log in to a application that is deployed to WebLogic server. When you click a link named
"publish" on the site, an Access Denied" message appears.

Which two statements are true about this server\\'s security configuration?
A. The application is not associated with any security roles.

B. A security realms is not configured in this domain.

C. Your user account has expired.

D. Your user account exists in an authentication provider.

E. A security policy is attached to the "publish” link URL.

Correct Answer: DE

QUESTION 2

You use the Administration console to modify the domain\\'s security realm. After deleting the default authentication
provider, you add a single authentication provider for iplanet LDAP. You then try to reboot your servers with the
weblogic user but they all fail to start due to authentication errors.

Identify two possible causes.

A. The weblogic user does not exist in iplanet.

B. The Administrators group does not exist in iplanet.

C. A domain must include the default authentication provider.

D. Iplanet is not a supported LDAP implementation.

E. LDAP providers cannot be included in the default security realm.

Correct Answer: AB

QUESTION 3

You are in the process of planning a deployment in which a single WebLogic cluster will host a web application. There
are several options to consider.

Which is not a valid decision?
A. Proxy plug-in or hardware load balancer
B. Configured or dynamic cluster

C. Replicated or persistent HTTP sessions
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D. Unicast or multicast communication
E. Single or multiple domains

Correct Answer: A

QUESTION 4

Select the two true statements about upgrading WebLogic server to version 12c (12.12).

A. To use the Reconfiguration Wizard, your current WebLogic server version must be 9.0 or higher.
B. The Domain Upgrade Wizard is no longer available in 12.1.2.

C. After running the wizard to update your domain ,you must reapply your start script customizations.
D. You need to update the domain\\'s administration server files.

Correct Answer: BC

QUESTION 5

View the following file except, which configures HTTP session replication:
replicated

From which file is this except taken?

A. weblogic-application.xml

B. session.xml

C. web.xml

D. config.xml

E. weblogic.xml

Correct Answer: E

Reference:
https://www.oracle.com/webfolder/technetwork/tutorials/obe/fmw/wlis/12c/12ManageSessions--4478/session.htm#t2
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